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Model Summary

Model (all done Model 20 Weldl Wandsl Weld2 Weld3
with ANSYS) (L. Greenler, F. (L. Greenler, (R. Wands, FNAL) | (L. Greenler, (L. Greenler, PSL)
Feyzi, PSL) PSL) PSL)
Purpose Overadl distortions Weld stresses Overdl distortions, | Weld stress Weld stress distribution
bolt loads, weld refinement
stresses
Type of model Y, of endcap, joined | ¥aof YEL, joined | 1/10 of YE1, Actua | ¥ YE1, Joined %Y E1, Joined node for
nodes for bolts, solid | nodes for welds bolts with preload, node for bolts, bolts, weld strip
sectors and bolts weld strip weld strip
L oading Magnetic and gravity | Magnetic Magnetic Magnetic Magnetic
Maximum 11 mm 14 mm 10 mm 14 mm 14 mm
distortion
Maximum weld 118 MPa 76 MPa 85 MPa 85 MPa
stress Equivalent stress | Stressintensity Equivalent stress | Equivalent stress,
Method of Extract nodal Extract nodal forces, | Derived by Derived by program
calculation forces, divide by divide by area, program
area, combine combine
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Magnetic Force vs. R
Surface of YE1 Close to IP
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Figure 12-3: Axial force distribution on YE1 at Z=7.26 m
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TENSION
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Figure 12-9:: Loads on a single sector
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